2003-20 4Runner/ 07-14 FJ Cruiser/ 05-15 Tacoma

RCI A-Arm Skid Plate Installation

Universal Hardware packet includes hardware for 05-15
Tacoma, 03-20 4Runner or 07-14 FJ. Please see install

Included Hardware Kit

notes for hardware that will NOT be used on your A. 3/8” x 3" Carriage Bolt 2 ea.
specific model. B. 3/8” x 3-1/2” Carriage Bolt 2 ea.
C. 3/8” x4” Carriage Bolt 2 ea.
Lift front of vehicle with jacks or ramps, and safely D. 1/4” x 2-3/4” Hex Bolt 2ea.
secure it if extra working room is necessary. £ " <3 Hex Bolt .y
3. Install 3/8” carriage bolts through skid plate and secure F i 3/8" Washer 4ea
them with the 3/8” retainers. The shorter of the two G. | 3/8" Locknut (orLock-washer 4 ea.
. . ) and Hex Nut)

carriage bolts will be at the front of skid. Use a deep —

.. . H. 3/8” Retainer Washer 4 ea.
socket or similar and tap them on with a hammer. The

retainers are not critical but will make install and removal I 1/4" Fender Washer 4ea
much easier for one person. X 1/4" Locknut 2ea.

Install Notes*

10-16 4Runner/10-14 FJ

* Will NOT use the 3/8”x 3” Carriage Bolts
*Will NOT use the %4” x 2-3/4” Hex Bolts

4. Lift A-arm skid plate into position and install washer and
locknut (on top of A-arm, leaving loose enough to adjust
plate.

5. Adjust as necessary, then install %4 hex bolt through the
elongated slot near the tire. Install fender washers on both
sides and locknut on top of A-arm.

03-09 4Runner/07-09 FJ/05-15 Tacoma
* Will NOT use the 3/8”x 4” Carriage Bolts
*Will NOT use the %4” x 3” Hex Bolts

I

6. Adjust plate as necessary then fully tighten all bolts
and locknuts.

7. Repeat steps for opposite A-arm skid plate.

Enjoy the new protection!!!

Shorter Carriage Bolt HERE

= g

Disclaimer: The products sold by RClI Metalworks are intended for off —road use only, should not be modified, and are for use only on the vehicle(s) specifically
stated. RCl Metalworks makes no warranties express or implied, including of fitness for a particular purpose or merchantability. RCI Metalworks will not be
liable for any damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the products are safely and properly attached
to the vehicle, and all products should be installed by trained professionals. We strive to maintain extremely high quality standards; however, all RCI
Metalworks products are individually handcrafted, may vary slightly, and may contain minor imperfections. Due to the nature of raw aluminum, the material
may have minor scratches and other blemishes caused by the manufacturing process, especially on the back side of product. RCI Metalworks is constantly
seeking to improve its products and reserves the right to make changes to any product.




